HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]

22 - 501 #EE 22 - 502 EEMEE 22 - 502 B

FoRE 2 (#2E) BafE R GRIM) FaE R GRM)

[#Ki;H4&] 01 - 00 [§Kiz&] 01 - 00 [$Ki;Z4&] 02 - 00

B RKE FHRKE REEKE

BEIEH [KiR&] [KiE&] [kiFE&]

R UK H KXBENKRRXEN KENKRRKEN

[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]

EHFEK S LR EIN$i

[1BFEHKE] 14,525 (m) |[1BF5KE] 47,033 (m) |[1BEHEKE] 23,579 (m)

Hk a2k E) Bk a2k %) Fk(#akAEKE)

) =IE T E1% bl =xIE Ty B3 ) =IE T Bl

PUFEVRUEZDILE <0.0020  <0.0020  <0.0020 2 <0.0020 <0.0020  <0.0020 12 <00020  <0.0020  <0.0020 12
ISVRUEDIEEY <0.0002  <0.0002  <0.0002 2 <0.0002  <0.0002  <0.0002 12 <00002  <0.0002  <0.0002 12
29TV RUZDIEEH <0002  <0.002 <0.002 2 <0002  <0.002 <0.002 12 <0.002 <0.002 <0.002 12
1,2—9HOAIaY <0.0004  <0.0004  <0.0004 2 <0.0004  <0.0004  <0.0004 12 <0.0004  <0.0004  <0.0004 12
LTy <0020  <0.020 <0.020 2 <0040  <0.040 <0.040 12 <0.040 <0.040 <0.040 12
TRIVEEY 2—IFIAFII) <0.008  <0.008 <0.008 2 <0008  <0.008 <0.008 2 <0.008 <0.008 <0.008 2
HIERE <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2
ZEMEER <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2
ybonre b= <0.001 <0.001 <0.001 2 0003  <0.001 0.002 2 0.002 <0.001 0.001 2
#Kkoa5-Il <0002 <0.002 <0.002 2 0.008  <0.002 0.004 2 0.005 <0.002 0.003 2
RS * 0.00 0.00 0.00 2 |* <001 <0.01 <0.01 4 % <0.01 <001 <0.01 4
HREBIER 0.4 03 0.4 2 0.4 0.2 03 12 05 0.4 0.5 2
SR 4.0 <20 20 2 4.0 20 3.0 2 40 40 40 2
1,1,1—tyhonI4ay <0030  <0.030 <0.030 2 <0030  <0.030 <0.030 12 <0.030 <0.030 <0.030 12
AFI—t—=FFII—FI (MTBE) <0002 <0.002 <0.002 2 <0002  <0.002 <0.002 2 <0.002 <0.002 <0.002 2
AMEGBIVH VBN LEEE) <03 <0.3 <0.3 2 0.9 0.4 0.7 2 0.7 <03 0.4 2
R SR5&E (TON) <1 <1 <1 2 <1 <1 <1 2 <1 <1 <1 2
BRI GYTUTES) -1.1 -1.1 -1.1 2 -16 -1.7 -1.7 2 -15 -1.6 -16 2
HEREEMR 1 0 1 2 0 0 0 2 0 0 0 2
1,1—9HOAIFLY <00100  <0.0100  <0.0100 2 <0.0100 <0.0100  <0.0100 12 <00100  <0.0100  <0.0100 12
RIINAOADZY AV EEPFOS) R UAILINAOA DI ALKV EE(PFOA) <0.000005  <0.000005  <0.000005 2 0.000005 0.000005 0.000005 2 <0.000005  <0.000005 <0.000005 2
KR (°C) * 17.1 150 16.0 12 265 99 18.1 12 26.0 6.6 15.9 12
FUEITRERER
EMILFRIBRERE(BOD)
LB RERE(COD)
SRV B (50mm )L {3 FR B )
FHEMESS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
PIVHIE
BEEER
ERAAY
BT/

-k(F . HEKIEEOKDT—RTT,



HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]

22 - 502 EEE 22 - 502 EEMEE 22 - 503 B

FRRIR GEIM) EHREIR GEIM) AR (BE )

[#/Kkiz4&] 03 - 00 [$Kiz&] 04 - 00 [%Ki;H4&] 01 - 00

#BEA % K5 FHRKE hE%5KE

BEIEH [KiR&] [KiE&] [kiFE&]

XEN., A KENKZRABIN FEIKRAE)II

[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]

EIN it S LR FivAK(BR)

[1BFEHKE] 82,633 (m) |[1HEH%EKE] 28,748 (m) |[1BHEH%KE] 28,710 (m)

Hk a2k E) Bk a2k %) Fk(#akAEKE)

) =IE T E1% bl =xIE Ty B3 ) =IE T Bl

PUFEVRUEZDILE <0.0020  <0.0020  <0.0020 2 <0.0020 <0.0020  <0.0020 2 <00002  <0.0002  <0.0002 2
ISVRUEDIEEY <0.0002  <0.0002  <0.0002 2 <0.0002  <0.0002  <0.0002 2 <0.0001  <0.0001 <0.0001 2
29TV RUZDIEEH <0002  <0.002 <0.002 2 <0002  <0.002 <0.002 2 <0.001 <0.001 <0.001 2
1,2—9HOAIaY <0.0004  <0.0004  <0.0004 2 <0.0004 <0.0004  <0.0004 2 <0.0002  <0.0002  <0.0002 2
LTy <0040 <0.040 <0.040 2 <0040  <0.040 <0.040 2 <0.001 <0.001 <0.001 2
TRIVEEY 2—IFIAFII) <0.008  <0.008 <0.008 2 <0008  <0.008 <0.008 2 <0.005 <0.005 <0.005 2
HIERE <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2
ZEMEER <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2 <0.06 <0.06 <0.06 2
ybonre b= 0.001 0.001 0.001 2 0003  <0.001 0.002 2 <0.001 <0.001 <0.001 2
#Kkoa5-Il 0006  <0.002 0.003 2 0.008  <0.002 0.004 2 <0.002 <0.002 <0.002 2
RS * <0.01 <0.01 <0.01 4 |* <001 <0.01 <0.01 4 % <0.01 <001 <0.01 2
HREBIER 0.4 03 03 2 0.4 0.2 03 12 03 0.3 0.3 2
SR 3.0 2.0 2.5 2 4.0 20 3.0 2 3.9 35 3.7 2
1,1,1—tyhonI4ay <0030  <0.030 <0.030 2 <0030  <0.030 <0.030 2 <0.001 <0.001 <0.001 2
AFI—t—=FFII—FI (MTBE) <0002 <0.002 <0.002 2 <0002 <0.002 <0.002 2 <0.001 <0.001 <0.001 2
AMEGBIVH VBN LEEE) 12 0.9 1.1 2 0.9 0.4 0.7 2 <03 <03 <0.3 2
R SR5&E (TON) <1 <1 <1 2 <1 <1 <1 2 <1 <1 <1 2
BRI GYTUTES) -1.2 -1.3 -1.3 2 -16 -1.7 -1.7 2 -1.0 -1.2 -11 2
HEREEMR 0 0 0 2 0 0 0 2 16 0 8 2
1,1—9HOAIFLY <00100  <0.0100  <0.0100 2 <0.0100 <0.0100  <0.0100 2 <0.0002  <0.0002  <0.0002 2
RIWTNAOADY AN B(PFOS)RURI INATA DS A VB (PFOA) <0.000005  <0.000005  <0.000005 2 0.000005 0.000005 0.000005 2 0.000002  0.000001 0.000002 2
KR (°C) * 265 50 16.1 12 265 99 18.1 12 185 15.0 16.7 12
FUEITRERER
EMILFRIBRERE(BOD)
LB RERE(COD)
SRV B (50mm )L {3 FR B )
FEYE(SS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
PIVHIE
BEBRE
ERAAY
BT

-k(F . HEKIEEOKDT—RTT,



HHB(2021)4EFE JKEHEET 8K $KARKF) DKEOKERKEREE)

[BExEH4A] [(BXEH4A] [BxEH4]
22 - 505 #MEE - -
RFNEGEKESER
[#Kkiz4&] 01 - 00 [&KiZA] - [%Ki54] -
HERKS
BEIEH [KiR&] [KiE&] [kiFE&]
KHFNKZRKFHN
[FR/kDFEE] [FRkDiELE] [FR/kNDFELE]
EIN it
[1BFEHKE] 98,436 (m) |[1BFH4i%KE] (M) [[1BF9:%KE] ()
HIKGRKEKE) HIKERKEKE) FIKERKEKE)
1) =IE T E1% bl =xIE Ty B3 ) =IE T Ik

TUFEVRUEDILEY 0.0002 1

DIV RUEDILEY <0.0001 1

ZITIVRUZOIEED <0.001 1

1,2—YhOnIsYy <0.0002 1

LTy <0.001 1

TRVEEY 2—IFIAFIIL) <0.005 1

HIERE <0.06 1

ZEEiER

ybonre b= <0.001 1

faKH05-Ib <0.002 1

REE * 0.00 1

HREBIER 0.4 03 0.4 12

SR 2.6 1

1,1,1—kHoonIay <0.001 1

AFI—t=TFII-TIL (MTBE) <0.001 1

AMEGBIVH VBN LEEE) <0.3 1

R SR5&E (TON) <1 1

BRI GYTUTES) -16 1

HEREEMR 0 1

1,1—9HOAIFLY <0.0002 1

RVINATADEY 2RV EE(PFOS)RUAILINAOADEY ALK E(PFOA) <0.000001 1

JKig (°C) 23.0 9.1 16.5 12

TPUEZTREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

BRI R

L2EX

DV

VVEEATY

FINOAR YA R BE

£ (n/ml)

TILHVE * 414 21.2 320 242

BEBRE

ERAAY

BT

-k(F . HEKIEEOKDT—RTT,



